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Stitch Pattern: 
Stockinette: In rnds: k all sts 
Ribbing: (amount of sts multiple of 2) In rnds: alt 
k 1, p 1 
Norwegian Pattern: (amount of sts multiple 
of 10): stockinette st in col as given in chart 
(see charts 1 and 2) using stranded method of 
knitting (hold unused yarn to back of work and 
guide loosely along as other colour(s) are knit.
Tension: 
23 sts and 24 rnds to 10 cm meas over stockinet-
te st in Norwegian stranded pattern using size 
4 mm needles or size needed to achieve given 
tension.
Instructions:  
Hat:
Using col. cream and dpns cast on 110 sts and 
divide amongst 4 needles (3 x 30 sts and 1 x 
20 sts.) Join for working in the rnd, being careful 
not to twist sts. Using col. red work 2 rnds in 
ribbing pattern then cont. in stockinette/ Nor-
wegian pattern working rnds 1–36 according 
to chart 1 (hat). In the 33rd rnd of pattern place 
a marker at every 11th st and in the foll. rnd k 
these sts tog with the st before them. = 100 sts. 
After chart is worked once finish hat using only 
col. dark blue. Work the decs as established 
over the marked sts every 3rd rnd 2 times more 
and in every foll 2nd rnd 7 times more. = 10 sts. 
Break yarn and thread through these last 10 sts 
and pull tight. Weave in ends.  
Make a 3-coloured pompom approx. 9 cm in 
diameter using mostly red and small amounts 
of cream and dark blue as shown in image. Sew 
pompon to the top of the hat.
Wrist Warmers:
Using col. cream and dpns cast on 40 sts and 
divide sts evenly amongst the 4 needles (10 sts 
per needle). Join for working in the rnd, being 
careful not to twist sts. Using col. red work 
2 rnds in ribbing pattern then cont. in stocki-
nette/ Norwegian pattern working rnds 1-44 

Size:
Hat: Circumference approx. 
53 cm–57 cm 
Wrist Warmers: Size S/M, length: 
approx. 18 cm, circumference: 
approx. 17 cm
Usage: (Hat and wrist warmers 
together) 
approx. 100 g in col. 12 (dark 
blue), approx. 50 g in col. 02 
(cream) and approx. 50 g in 
col. 10 (red)

Quality:
Classico (Gründl)
50 % Virgin Wool (Merino super-
wash), 50 % Polyacrylic 
50 g / 120 m

Difficulty level:

Pattern
CLASSICO
Norwegian Hat and Wrist Warmers

2 x 1 x 1 x

Needles:

3,5 – 4,5
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according to chart 2 (wrist warmers). In rnd 33 
of patt (rnd 35 from cast on edge) place first 
6 sts on holder and cast on 6 new sts (using 
dark blue) and cont in patt as given. After the 
44th rnd in patt using col. red work 2 rnds in 
rib patt then using col. cream cast off all sts 
even in patt. 
For the thumb using col. dark blue, with right 
sides facing, pick up 8 sts along the cast off 
edge 1 st before cast off, 6 over the cast off sts 
then 1 st after and place the 6 sts from the hol-
der back onto the dpns (These can be worked 
over 2 or 3 dpns as you prefer). = 14 sts. Now 
work 8 rnds in stockinette st over these 14 sts 
then cast off even. 
Work 2nd wrist warmer the same placing the 
thumb opening over the last 6 sts in rnd 33.

Abbreviations:
approx. = approximate(ly)  
beg = begin(ning)  
cm = centimetre(s)  
col = colour(s)  
cont = continue (continuously) 
dpn(s) = double pointed needle(s) (set of 5)  
g = gramme(s)  
k = knit  
m = metre(s)  
mm = millimetre(s)  
meas = measure(d)  
p = purl  
patt = pattern  
rep = repeat  
rnd(s) = round(s)  
st(s) = stitch(es)  
tog = together

x = k 1 in col. cream

= k 1 in col. dark blue 

 = k 1 in col. red

Chart 1  
(Hat):
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Chart 2  
(Wrist Warmers):
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